Probability of an event, E:

n(E)
E)=2~22
P(E) n(S)
Odds FOR an even& E:
o(E)=n(E):n(E)
If o(E)=a:b,then p(E)=—2—.
a+b

Cardinal number rules for probability:

P(E)+ p(E)=1

Probability Test Formulas

P(EUF)=p(E)+p(F)-p(ENF)

Conditional Probability:
ANB

p(AIB) = MANB)
n(B)

Product Rule:
p(ANB)=p(AlB)- p(B)

Sample Space of Rolling a Pair of Dice

Ssuml [ (1,1) (1,2) (1,3)

2 (2,1 (2,2) (2,3)
3.1 (3,2) (3.3)
(4,1) (4,2) (4,3)
5.1 (5,2) (5,3)
(6,1) (6,2) (6,3)

(1,4)
(2,4)
(3.4)
(4. 4)
(5. 4)
(6, 4)

(1, 5)
(2,5)
(3.5)
(4.5)
(5.5)
(6. 5)

(1, 6)
(2, 6)
(3.6)
(4, 6)
(5. 6)
(6, 6)
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